o

' DETAIL CALLOUT (TYPICAL) | N
LOUVER ELEV. S
N 2N e
@ o O s
0 SENNS Bpkdl
BLADE SUPPORT 0l g — F 4
STRAP RQD. IF | ==y 2 >
SECTION HEIGHT RURRULRLLRRLU LRUERRRRARRRAR s 5 B 2
EXCEEDS 63.0”
i i gdg
ST
Lt
=202 oz
— W2 @ &)
I wxz o) —
~ ocR3 L S
T Lud @r:}&) T L
<9 oL 3| > -
<T L L:J,_}-—
> T =0
< E Z Z (o e e . O o o o I o s e e v | £ o s I o I e s e w am J e su  s ‘@
25 57w ] %
- Z£-5 _ “
~5 S5J9 ] :
O %*‘
O X<
<C
>
| e e 1 I .
NOTE: SECTIONS MAY BE STACKED 180" MAX
VERTICALLY PERMITTING THERE IS — SECTION —- 5
SUITABLE LOAD—BEARING STRUCTURE VIDTH 0
(BY OTHERS) AT THE HEAD/SILL
LOCATIONS FOR ATTACHMENT OF THE . UNLIMITED
CONTINUOUS MOUNTING ANGLES. OVERALL UNIT WIDTH




SAS?SLEFOORRIIEZ)I\FJD&CT)INOAI\IL ~—=— SEE PAGE 8 FOR MIN. EDGE DISTANCE i
m HEAD DETAIL l" (REFERENCE ONLY OPTIONAL ANGLE ORIENTATION. MAY BE Q| >
e N4 USED AT HEAD OR SILL. CHECK CLEARANCE |, -
D SCALE: 1:2 NOT 5EQUI§ED) ) e O
3 - P BETWEEN SUBSTRATE FASTENER HEAD AND |s |3
| I == LOUVER FRAME AND ADJUST LOUVER SIZE O g &
f /—@ ACCORDINGLY IF NEEDED) o B
O A A\ (1 N @ EL;J N% <>1: I
PG 11 ZE i X >
o= _ J U\ s B 2 L
VN RO -
— X A ~ N <
O é} % /_@ \ 2 /BLADE END %Qg w
n 0 L g
T 38 ¢ 2 /JAMB END I €2 _
x =2 3 SREp: X
> a5 . =22l 8 o
<~ = a
S "% B 3 —® P R
) q | Gemgl L @
= ~No A /@ 3 ol T
2 < S 3 g G5 = 3
SUPPORT DETAIL £ s F 19 o .
. . J
\_—2/ SCALE: 1:2 S <E” (%
= /\»8 = -
5 0% 2
>~ zZ O L ﬂ
e sz g |9 ~O
z = 3 2/JAMB END
a = n 3 AT
3 fz)/g - / 2 /BLADE END
e O < /—'(:) d
(?é C>L— = 81_1 d /_@
— = < >
1% .S O /
a8 0
) ~NO ﬁ/
. D L
‘ %:) (g N \ )J l.E
. —W D——— : ,
4
VU7 A s 5
5 SILL DETAIL 4
SCALE: 1:2 <~ 6.35, LOUVER DEPTH —=|
\?/ @—/ 7.16, LOUVER FACE TO SUBSTRATE FASTENER
| — =T (REFERENCE ONLY, NOT REQUIRED)




Ny
O
. S e
= O
T /@/—@ B = g ©
. | N O Z ©
n g
d/ /—@ O 10 g// O Cv syl OF 3 g
4 =z - iw '-L:I =)
3 ,, = an /7 an ™ am ) c% é ‘-i—’ ‘2 L
N fam) w (%] (@8]
D UM NN 3} )
@ @ v dg (ﬁ
4 253 =
< ©Ls ~
O v | %53 o
25
()
@)
@\ Ny W=z © a
@m_(_) | an
ol T D
v @QB > w
4 @ @ - 06
D
N N m
G~ .: 0. g
N @ o @ &/ 2
L
-
—=| |=— .75 BLADE SPACING, TYP @ / =
- ACTUAL LOUVER WIDTH, ACTUAL SECTION/SHIP WIDTH —
0.25, TYP (NOMINAL SIZING), 0.25, TYP (NOMINAL SIZING),
I~ 0.00 MIN, UNLIMITED MAX ALLOWED 0.00 MIN, UNLIMITED MAX ALLOWED ' ;
- SUBSTRATE OPENING WIDTH, NOMINAL LOUVER WIDTH - [

m JAMB DETAIL m SUPPORT DETAIL 40pp\ JAMB DETAIL OPPOSITE
w SCALE: 1:2 w SCALE: 1:2 w SCALE: 1:2




12/6/11

DATE

4 OF 9

MES
1:2
CAD DRAWING NO.

SHEET NO.

EVH—-660D

DRAWN BY
SCALE

0 | ¥

é §[@ng§
U v

—=i=— .00, TYP (NOMINAL SIZING), UNLIMITED MAX ALLOWED

ACTUAL LOUVER WIDTH ACTUAL LOUVER WIDTH
ACTUAL SECTION/SHIP WIDTH ACTUAL SECTION/SHIP WIDTH

SUBSTRATE OPENING WIDTH, NOMINAL LOUVER WIDTH

EVH-660D
MULLION DETAIL

. GRIEENIFIECK
P.0O.BOX 410 SCHOFIELD
WISCONSIN 54476-0410

P S —

A

!

//75\\\ MULLION DETAIL

4 SCALE: 1:2




d099 —HAJ

‘ON ONIMVd d¥d

6 40 &

d099—HA3

‘ON_L133HS

1Iv13a F10H d33IM

LL/9/21L

31vd

A 0T¥0-9/4% %S NISNOJSIM
3793S ‘@13140H3S 01y XD04'0'd
o e (o)

,,v
&u:.

.. szv o~
>N

HITINIHS ITHIN w<2ozbm

----------------------

b v

%4

\\\\\\\\V\,\\\\\\\\\\\\\\\\\\\\\\\\\\ (LS

2.

IN. PER WEEP

WEEP HOLE, STYLE MAY VARY,

0.175 SQ.

.1
Q

4.00 O0.C. TYP
ALONG WIDTH

-

f—aﬂ —=—0.625

S1e0 —=

VIEW OF EXTERIOR FACE OF LOUVER,
LOWER RIGHT CORNER

WEEP DETAIL

SCALE: 1:2

9




N
O
- S .
= L | <
DARKENED AREAS INDICATE Ol 3
AREAS SEALED BY FACTORY, g
TYP AT BOTH SILL ENDS AND Ll g © 5 ¢
ALL BLADE-SILL AND JAMB-SILL DARKENED AREAS Sk E =
FASTENERS. SCREWS ALLOWED INDICATE AREAS SEALED 2 R 2 = [
TO USE A GASKET FOR SEALING BY FACTORY, TYP AT = 18 b S
VS A "WET” APPLIED SEAL OVER BOTH SILL ENDS.
THE TOP OF THE SCREW. ‘
22
S
O
, HUESs %
Loy 3
E%z S W
2 O
@/ I x5| <©
otat] B
@D_'B => —
- <
L
\\ »
@_/ .;‘
VIEW OF INTERIOR FACE OF LOUVER, @/
LOWER LEFT CORNER SECTIONAL VIEW,
LOOKING AT SILL
@ SEALING DETAIL 1 @ SEALING DETAIL 2
6 ScaLE: 1:2 ) SCALE: 1:2




3/8” POWERS WEDGE BOLT FASTENER TABLE 174”7 TAPCON SCREW FASTENER TABLE }
FASTENER NUMBER 12a FASTENER NUMBER 12B u} O 0
— ~—
DESCRIPTION 3/8" POWERS WEDGE BOLT DESCRIPTION 1/4" TAPCON = é . 8
]
SUBSTRATE NORMAL WEIGHT CONCRETE CMU (1.5 KSI GROUT FILLED) SUBSTRATE CONCRETE OR CMU (GROUT FILLED) z O
6" WIDE, GRADE N, TYPE 11, nl nlg 0 E |
MINIMUM 55 ks L TGHT /MEDIUM /NDRMAL \WETCHT MINIMUM 3.192 KSI CONCRETE OR 3.192 KSI GROUT 2l Eg 535 T
cMJ CUNFORMING TO ASTM €90 | | epGe DISTANCE (MIND 1IN, 1-1/2 IN. 2-1/2 IN. z 7 wTG = >
EDGE DISTANCE (MIN) 2 IN. 3 IN. 4-1/2 IN. 1-172 IN. 2 IN. = |5 ¥ 2 L
PENETRATION (MIN 1-3/4 IN. 2 o S
PENETRATION (MIND 2-1/8 IN. 2-1/2 IN,
LOUVER HEIGHT <IN SPACING (IN)
HT CIN. . . .
LOUVER HEIGHT <IN SPACING (IN) SPACING CIN.) S TERRESED 5 5 7 So
>108 & <120 4 6 8 NOT ALLOWED | NOT ALLOWED 96 & <108 2 4 4 %dg
>96 & <108 6 8 10 NOT ALLOWED | NOT ALLOWED S84 & <96 > 2 5 (O
>84 & <96 6 8 10 NOT ALLOWED | NOT ALLOWED 572 & <84 > 7 3 W EN n
>72 & <84 6 10 12 NOT ALLOWED | NOT ALLOWED 560 & <72 4 6 8 Eai -
>60 & <70 8 12 14 NOT ALLOWED 6 >48 & <60 3 6 10 20‘” - @
>48 & <60 10 14 18 NOT ALLOWED 6 >36 & <48 6 8 12 @‘;}‘é 3 s
>36 & <48 12 18 20 NOT ALLOWED 8 SPd & <36 8 E 16 @ xz| © .
>24 & <36 18 20 20 6 10 SERWEY) B 18 20 @58 ! 0
>12 & <24 20 20 20 8 14 50 & <12 20 20 20 @:}2 T =
>0 & <12 20 20 20 12 20 e
)
=
LAG SCREW, SCREW, & BOLT W/NUT FASTENER TABLE CONTINUDUS ANGLE TO LOUVER FRAME SCREW
(FASTENER # 1D
FASTENER NUMBER 12C 12D 12E LOUVER HEIGHT (IND SPACING (IND
3/8" LAG 174" LAG . >108 & <120 2 Y
DESCRIPTION SCREY SCREY 1/47-20 SCREW OR BOLT W/NUT S5 <108 > =
SUBSTRATE wooD STEEL >84 & <96 2
>72 & <84 4
MINIMUM G=.4p A36 STEEL OR Fy>=36 KSI >60 & <79 4
>48 & <60 4
A -1/ . .
EDGE DISTANCE (MIND 1-172 IN 172 IN e -
PENETRATION <MIND 2-3/4 1IN, 000 3/16 IN. >24 & <36 8
: : >l2 & <24 14
LOUVER HEIGHT <IND SPACING (IND SPACING (IN.) S0 & <2 0
>108 & <120 6 4 6 8
>96 & <108 6 4 6 10
>84 & <96 6 4 8 12
>72 & <84 8 6 8 12
>60 & <72 10 6 10 16
>48 & <60 12 8 12 18
>36 & <48 14 10 16 20
>24 & <36 20 14 20 20
>12 & <24 20 20 20 20
>0 & <12 20 20 20 20




ITEM DESCRIPTION MATERIAL NOTES

1 |[LOUVER HEAD ALUM

2 |LOUVER SILL ALUM

3 |LOUVER JAMB ALUM

4 |LOUVER BLADE ALUM 374" SPACING

S |[CONTINUOUS MOUNTING ANGLE ALUM AT HEAD AND SILL ONLY
¢ |BLADE SUPPORT STRAP, FOR HEIGHTS > 60.875" ONLY ALUM NOT ATTACHED TO JAMBS
10 |#10-24 x 3/4” MIN SCREW STEEL* /SS

11 |174-20 x 17 MIN SCREW STEEL* /SS

12A |3/8” POWERS WEDGE BOLT STEEL* /SS | SEE FASTENER TABLE PAGE
12B |1/74” TAPCON SCREW STEEL* /SS |SEE FASTENER TABLE PAGE
12C |3/8" LAG SCREW STEEL* /SS |SEE FASTENER TABLE PAGE
12D |1/4” LAG SCREW STEEL* /SS | SEE FASTENER TABLE PAGE
12E |1/74-20 SCREW 0OR 1/4-20 BOLT W/NUT STEEL* /SS | SEE FASTENER TABLE PAGE
20A |CONCRETE, 2.5 KSI MIN CONCRETE NOT BY MANUFACTURER
20B |CMU, 1.5 KSI MIN GROUT FILLED CONCRETE NOT BY MANUFACTURER
20C |STRUCTURAL STEEL, 3/16” MIN STEEL NOT BY MANUFACTURER
20D |STEEL STUD, 16GA MIN STEEL NOT BY MANUFACTURER
20E |WOOD SUBSTRATE, G=0.42 MIN DENSITY wQdadD NOT BY MANUFACTURER
30 |SEALANT, FACTORY APPLIED VARIES FACTORY APPLIED

31 |SEALED SCREW HEAD, FACTORY APPLIED VARIES FACTORY APPLIED

32 |SHIMS, OPTIONAL, AS REQUIRED, INCOMPRESSIBLE VARIES NOT BY MANUFACTURER
33 |SEALANT AND BACKER ROD VARIES NOT BY MANUFACTURER

(STEEL/STAINLESS—-STEEL/ALUMINUM PARTS MAY BE MADE OUT OF
ALTERNATE ALLOY THAT HAS EQUAL OR GREATER YIELD STRENGTH)

* STEEL MUST HAVE CORROSION RESISTANT COATING.

GENERAL NOTES:

1. 1T SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO
VERIFY THE STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO
SUPPORT THE LOADS IMPOSED BY THE PENTHOUSE ASSEMBLY.

2. THIS LOUVER HAS BEEN DESIGNED AND TESTED IN ACCORDANCE
WITH MIAMI—DADE COUNTY PROTOCOLS [AND QUALIFIED IN
ACCORDANCE WITH THE 2010 FLORIDA BUILDING CODE (FBC) AND
TEST PROTOCOLS/STANDARDS]:

TAS—201 (LARGE MISSILE IMPACT)

TAS-202 (UNIFORM STATIC PRESSURE)

TAS—203 (CYCLIC FATIGUE)

TAS—100(A) (WIND—DRIVEN RAIN)

AMCA STANDARD 550 (WIND-DRIVEN RAIN)

3. THIS LOUVER HAS BEEN DESIGNED, TESTED, AND APPROVED TO

WITHSTAND DESIGN PRESSURES OF UP TO AND INCLUDING +/-150
PSF.

4. THE LOUVER MAY BE INSTALLED IN A LOCATION WHERE THE ROOM
BEHIND THE LOUVER IS NOT DESIGNED TO DRAIN WATER PENETRATING
INTO THE ROOM OR THE ROOM WILL HOUSE NON-WATER RESISTANT
OR WATER PROOF EQUIPMENT, COMPONENTS, OR SUPPLIES.

5. THE MAXIMUM SINGLE SECTION SIZE IS 48" WIDE BY 120" HIGH.
THE MAXIMUM OVERALL/ASSEMBLED SIZE IS UNLIMITED WIDE (BY USE
OF MULTIPLE SECTIONS OF 48" WIDE OR LESS) BY 120" HIGH.
SECTIONS /ASSEMBLIES MAY BE STACKED VERTICALLY PROVIDED THERE
IS SUITABLE STRUCTURAL SUPPORT (DESIGNED AND INSTALLED BY
OTHERS) TO SUPPORT ALL LOADS TRANSFERRED FROM THE LOUVER
HEAD AND/OR SILL TO THE SUBSTRATE.

6. A HORIZONTAL BLADE SUPPORT STRAP IS REQUIRED IF SECTION
HEIGHT IS GREATER THAN 63"

7. ALL WOOD SUBSTRATE SHALL BE G = 0.42 DENSITY OR BETTER.

8. ALL STEEL STUD SUBSTRATE SHALL BE MIN. 16 GA. FY = 36 KSIL

9. ALL STRUCTURAL STEEL SUBSTRATE SHALL BE MIN. 3/16" THICK
FY = 36 KSl.

10. ALL CONCRETE SUBSTRATE SHALL BE MIN. 2,500 PSL

11. CONCRETE MASONRY SHALL BE MINIMUM OF: 6" WIDE, GRADE N,
TYPE I, LIGHT/MEDIUM/NORMAL WEIGHT CMU CONFORMING TO ASTM
C90, AND MIN. 1,500 PSI GROUT~FILLED.

12. LOUVER CONSTRUCTION: HEAD, SILL, JAMBS, AND BLADES ARE
SQUARE CUT AT BOTH ENDS. BLADE SPACING IS 3/4" MAX.

BLADES ARE SECURED TO THE HEAD/SILL WITH (2) SCREWS PER
BLADE END. EACH JAMB IS SECURED TO THE SILL AND HEAD WITH

(2) SCREWS PER JAMB END.

13. THE LOUVER MANUFACTURER DOES NOT DETERMINE THE
STRUCTURAL INTEGRITY OF THE SUBSTRATE STRUCTURE.

14. INSTALLER TO PROVIDE SEPARATION OF DISSIMILAR MATERIALS AS
REQUIRED. SEE FL BLDG CODE SECTION 2003.8.4 FOR DETAILS.

~
g (@)
LN QO
— T
-
O g O
2 |
([) - —
L0 22 0 T
= £ o
z " |lw g a8 >
2 3 |w a
[a% Q T <
a o |» O
wn
L
Ao 5
5l
ol
N8 |
W <
28y
= =
<t —
@] vl © D)
@xz O
oo
Qeagl | 5
Gz =
o
o2
©
i_
as
o
O
TR«
’-—-
= 0O




